Invoice

sincerely2you.co.uk DTM Trading Ltd 46 Purdeys Way Rochford, Essex, SS4 1ND United Kingdom

Date: 17 February

2013

Invoice: Q14

Billing address

Ms Extravagance Retail Ltd 44-45 The Lanes, Meadow hall S91 EP Sheffield South Yorkshire United Kingdom Telephone: 07973513032

Shipping address

Ms Extravagance Retail Ltd 44-45 The Lanes, Meadow hall S91 EP Sheffield South Yorkshire United Kingdom Telephone: 07973513032

Product list

Floudet list			
Product	Unit price	Quantity	Price
Crystal Buddhu (coloured) #307	£ 1.92	4	£ 7.68
Six Buddha's large Gold DTM13	£ 12.00	6	£ 72.00
Dragon chasing flaming Pearl DTM20	£ 3.00	2	£ 6.00
Money Toad on Baqua DTM15	£ 3.00	6	£ 18.00
Set of six Buddha's Yellow and Gold DTM11	£ 1.92	2	£ 3.84

N	Money Toad on Ru-Yi DTM16	£ 1.20	6	£ 7.20
N	Mystical flaming pearl Dragon DTM19	£ 2.40	3	£ 7.20
(Crystal Lotus Flow er Blue #318	£ 5.40	1	£ 5.40
(Crystal Lotus Flow er Pink #320	£ 5.40	1	£ 5.40
(Crystal Angel Pink Hue #309	£ 1.50	6	£ 9.00
(Crystal Angel Blue Hue #311	£ 1.50	6	£ 9.00
(Crystal ⊟ephant Standing #399	£ 7.80	1	£ 7.80
(Crystal Cobra Snake #394	£ 3.00	2	£ 6.00
(Crystal Dolphin w ith baby #384	£ 2.50	2	£ 5.00
(Crucifix DTM1011	£ 3.60	1	£ 3.60
(Crystal Angel Clear #308	£ 1.50	4	£ 6.00
F	Panda Eating Bamboo #380	£ 7.80	1	£ 7.80
(Crystal Sw an White Wings #389	£ 3.00	1	£ 3.00
(Crystal toad w ith coin: Medium#303	£ 6.00	1	£ 6.00
(Crystal toad w ith coin: Small #304	£ 3.60	1	£ 3.60
(Crystal Balls - clear: 100# #441	£7.20	2	£ 14.40

Sub total	£ 213.92
VAT	£ 34.82
Shipping	£ 21.90
Total	£ 235.82

Shipping method : betw een 10000 g - 19999 g Payment method : PayPal